O f(x) = § &)
3 2
45X = FX+20
x3+5x2aﬁx—£q =0

(x+5) -4 (x+85) =0

(x+5) (P-4) 2°
[x+5) (x=2) [xF>) =0

X+ 5 ':O‘ X —2=0 x-r-Z:o
X=—,5 X = Z X = -2

{52

v g T

@ wz% 172 +4 =0

(w2’ 1) (2 -4)

Mew

priy',\a\
” .

X+F

G It widdh of gl 3= 2%
longth ok ;f;s”b‘ O = x
with of e, 7 = 2x+3
,9719"‘\ of rew =7 V: X+ 7+

)

B (ax48) (x+7F) 40
2, 4 o
2x +1¥x +2] = 40

2
2% 413%x =19

(]

0
(Zx +19)(x-1) =0
2x + /9 =0 xf-léb

x)ﬁ“.’i/

B B pith oF origiaal L7 is 2 ia

and :e;«ju\ is | i

(22 -1) (22 +)(2- 2)(z+2)=0 T
= g 3p3x*+qx 2% 5

s2-lzo|z#+]=0]. 2 ~2=20 | 24250 (®) x-2% . :T_E:‘.____. g
\ J' 2 2 %‘2‘2. 27(14»5’(’15 X *.ZK -e’S' x ""4?

z - = T2 =
r= o T .

x2- 2% X +#2x =15 = 2x =X

- . — z
I-2,-4, % )zj Ixts 9x-25 X 43x +dx  x-gx+]

et e it e

6 <¢(+)-o ”*e'fwd>
f(4y= —1642%+5%¢
0 = —1b £+ 5F
o = —16 (£*— 36 )

0= —16 (£+-¢) (¢++6)

{:'(.-_o {'4-6 =0
=46 1!'}(-—(

- e e J,/{-ﬂ.—sﬁ‘r’r M . L«—M—’

{zra—aw #Wfiym‘*

\

4

It wil |+ the grouna\ ofley 6 seconds.



@ Xr4 + x ~l 2x+ |
—————m ———————— A

%~ 2x ¢
- x4+ & + L

EDIOR (*")(”f') (x =2)(x+1)

[+ ) fet1) # (x=1) (x=2) = (ax+)(x-3)

- (X ;-3)()(*2) (X +|)

(*+ 5%+ )+ (xP-3x 4 2) - (12X~ 5% -3)

. (x-3) [ -2) (=+1)

W

2
Zesxathtro3x42 =2XIXHS

(x—s){x»z)(xﬂ)

x4
Tk () )y

-2
4y~ - 4
| ) 2
(';I';'" - ,}J_;;_ A
b 4 T ) Y}jz’
(-5 - ==
Y L
g - ¥

1

1)

)

441,01

+

3
t2_5¢ -¢

tr -1

tEo 3t +6

6
(¢-) (&1

]

+

3
(4 -6)(¢+1)

(t-6) (¢

(t-¢)
(£-1)

|)(t+')}‘

§
B(E-0) 4 3 (e+1) = § (-¢)

B [lz‘:f

(t-6) (¢

-+

)(€+l$

3

| »
4),4-1)[ ’({-»6

(¢-
t

(t-6)

(t -HJl

6t — 34

§E =~ 34
_ 34

3t ~3 + 3{-1;+43

e

"



@

| v p T g we

Ix + 20 (s
I x + 206 @ Venas | o .86 [ 1
—+¢ "> °° ’ |
)a‘f 1z Hme togeter.
(3x+20) =5 (x48) Lo |
X +6- &) L L)Yy, t= ]
$o '
Bo
Ix + 26 - 5% — 39 '
{ o . L
x + 6 A A
lo Bo ’
—axcte o _ 34 = 240
14 R
x + L - 240
-2 (7""‘5) 3 O @ Z+ V:// J‘a/‘e Z(I,o Mv»\\» or ¢ l\»s,
/ .
x + 6 T
, . R
© o« of-ieb
2000, vpdedine
x+57 x+6 40 = (a /qb?’)(a +‘+b2)
w z-5 4
% * = (a '?—b)(O'*?b)(a +4b%)
z E = I
~5.50 ple¥ 6 b> Zc—l)g—-ﬂ(d. :

ok -3 0 ?nclﬂ ¢

e
¢ [lc :)-AAJ[(C")+(“')(‘°D+M)J

-t o+
_I][g —zc+|+éco( 6d+36dﬁ

q—

= Lc—sol

(-, " {) o (-2 00)/ R

= zeF (4e +3)(e-T)



d) 29?;‘4’“{-51' 329L—224{3k
’%5[9+?9,w3_“ﬂ
'Zah[s(a«‘?) l<(9+;z)l

29 (547 (P=i8)
Ly h (5+*>($:1)(7+4)

\J

\\

.e) 18 (.u—l)-‘)(acﬂ)—-zo |
. (e+ .u— 1.4-[

= 18 “7.—'\°Iu~-—20
(“-+ 5)(hn- ¢ )
C6(l+|)+5l[3(,+|) ql

= [6&-«-"][“

-F) gl 4T )z’-
(LJ—-3)=~P

2 (J—3 (L) (fzd-—sw)




